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0EFEE 19,453 3.5| 6,751 -7.2( 2.88] — | 55,559 4.5| 27,975 -4.6] 1.99| —
TEE 18,639 -4.2| 6,527 -3.3| 2.86| — | 53,908 -3.0| 27,022| -3.4| 1.99| —
2FEE 14,801| -20.6| 6,347 -2.8| 2.33] — | 42,258| -21.6| 28,834 6.7 1.47| —
SFE 15,386/ 3.9/ 6,443 1.5 2.39| — | 43,396 2.7| 30,852 7.0| 1.41] —
AEE 16,239 5.5] 6,420f -0.3| 2.53] — | 46,567 7.3] 30,053] -2.6] 1.b5] —
3/1~3 | 15,604 -13.5| 6,704 3.3 2.33| 2.34] 43,591| -16.0| 29,185| 13.7| 1.49| 1.40
3/4~6| 14,403 2.4 7,027] -0.7| 2.05| 2.41| 41,285 -1.7| 31,516| 13.6| 1.31| 1.4
3/7~9 | 14,698 3.5/ 6,157 0.6 2.39| 2.38| 41,297 3.2| 30,677 5.5/ 1.35 1.39
3/10~12| 15,564 1.5 5,822 6.1 2.67| 2.34| 44,038 1.5 30,776/ 4.9| 1.43| 1.38
4/1~3 | 16,877 8.2| 6,765 0.9 2.49| 2.46| 46,964 7.7 30,440 4.3| 1.54| 1.44
4/4~6 | 15,770 9.5 7, 411 b.5| 2.13| 2.50] 45,199 9.5| 32,758 3.9 1.38| 1.48
4/7~9 | 15,956 8.6/ 6,063] -1.5/ 2.63| 2.62| 45 793| 10.9| 30,329 -1.1| 1.51| 1.56
4/10~12| 16,634 6.9| 5,528/ -5.1| 3.01| 2.62 47,583 8.0 28,698 -6.8/ 1.66| 1.60
5/1~3 | 16,596] -1.7] 6,679] -1.3| 2.48] 2.46| 47,690 1.5] 28,426] 6.6 1.68| 1.57
3FE4R| 15,449 5.5 8,940 8.1| 1.73| 2.35| 42,410 -7.8| 32,203| 16.7| 1.32| 1.40
58| 13,593 1.6 5,826| -3.8] 2.33| 2.47| 40,807 1.1| 31,489| 14.7| 1.30| 1.40
68| 14,166 -0.1| 6,314 -8.4| 2.24| 2.40| 40,639 2.5/ 30,856 9.3 1.32| 1.43
7R 15,093 4.4 6,199 -4.1| 2.43| 2.37| 40,558| 2.6| 29,968 4.8 1.35| 1.41
8H | 13,995 -0.4] 6,025 6.5 2.32| 2.32| 41,154 2.9| 30,779 6.9 1.34| 1.36
9R | 15007 6.3| 6,247 -0.1| 2.40{ 2.45] 42,180 4.1| 31,285 4.9| 1.35] 1.39
108 | 16,228 -6.1| 6,394 -1.0{ 2.54| 2.35] 43,126| -0.5| 31,545 3.7| 1.37| 1.38
1A | 15,465 3.4| 5,994 14.0| 2.58| 2.26] 44,520 1.7 31,084 5.5 1.43| 1.37
128 | 15,000 9.1| 5,079 6.9 2.95| 2.42| 44,469 3.1| 29,698, 5.6/ 1.50| 1.38
A1 R | 18,480 9.7| 6,763 4.5 2.73| 2.50| 46,867 7.8| 29,907 6.1| 1.57| 1.43
28| 15,667, 4.0 6,282 -1.7| 2.49| 2.45| 47,164 7.5 30,142 4.2 1.56| 1.44
3 A | 16,483] 10.6] 7,251 0.0{ 2.27| 2.44{ 46, 861 7.9 31,211 2.8/ 1.50] 1.46
AFE 4R/ 16,137 4.5 8,848| -1.0{ 1.82| 2.43| 45,708 7.8| 32,946 2.3| 1.39| 1.47
5A| 14,469 6.4 6,867 17.9| 2.11| 2.44| 44,626/ 9.4| 33,039 4.9| 1.35| 1.48
68| 16,704] 17.9| 6,519 3.2| 2.56| 2.63| 45,264 11.4| 32,289 4.6] 1.40| 1.51
7R 16,263 7.8/ 5,820 -6.1| 2.79| 2.63| 45,242 11.5| 30,519| 1.8] 1.48| 1.54
8H| 15344 9.6 6,174 2.5 2.49| 2.63| 46,116/ 12.1| 30,332 -1.5| 1.52( 1.57
9 H | 16, 261 8.4 6,195 -0.8| 2.62 2.59] 46,022 9.1{ 30,135 -3.7| 1.53| 1.57
108 | 17,557 8.2| 6,367 -0.4| 2.76| 2.56] 47,057 9.1| 30,089 -4.6| 1.56| 1.58
1A | 16,684, 7.9| 5,568 -7.1| 3.00{ 2.71] 48,203| 8.3| 28,968 -6.8| 1.66| 1.61
128 | 15,662 4.4| 4,649 -8.5| 3.37| 2.59] 47,490| 6.8 27,037 -9.0| 1.76| 1.61
5&1A8| 17,350, —-6.1| 6,633] -1.9| 2.62| 2.53| 47,578 1.5| 27,411 -8.3| 1.74| 1.58
28| 16,712 6.7| 6,703 6.7| 2.49| 2.45| 48,084 2.0| 28,420 -5.7| 1.69| 1.57
38| 15,726 -4.6] 6,701 -7.6] 2.35| 2.50| 47,408 1.2| 29,446/ -5.8]| 1.61| 1.57
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0EFEE 2,467 -8.9| 36.5 678 -b.1| 573 2.9] 1,760 -0.5| 26.1{ 7,755 0.9| 27.7
TEE 2,240 -9.2| 34.3 641 -5.4| 556 -3.1] 1,835 4.3| 28.1| 7,757 0.0] 28.7
2FEE 1,974 -11.9] 31.1 592 -7.7| 505 -9.1| 1,927 5.0/ 30.4| 8,976| 15.7| 31.1
SFE 1,983 0.5/ 30.8 589| -0.5| 537 6.3] 2,030 5.4| 31.5| 10,176] 13.4| 33.0
AEE 1, 931 -2.6] 30.1 568| -3.5| 561 4.4 2,065 1.7] 32.2{ 9,802 -3.7] 32.6
3/1~3 2,093 -0.2| 31.2 89| 7.5 569 2.3 2,109| 11.7| 31.5] 9,312 23.1] 31.9
3/4~6 2,149 8.8/ 30.6 600| 11.6/ 563| 18.9] 2,386 6.1| 34.0[ 10,874] 23.9| 34.5
3/7~9 1,869 -2.8| 30.4 561|-10.5| 494 2.0] 1,863 7.4| 30.3| 10,001 13.9| 32.6
3/10~12 1,878 -1.3| 32.3 96| -2.7| 523 6.0 1,770 9.7| 30.4| 9,979| 10.5| 32.4
4/1~3 2,034 -2.8]| 30.1 597 1.4 568 -0.2] 2,102 -0.3| 31.1] 9,851 5.8] 32.4
4/4 ~6 2,096 -2.5| 28.3 603 0.5 580f 2.9 2,520 5.6| 34.0[ 11,208 3.1| 34.2
4/7~9 1,852 -0.9| 30.5 573 2.0{ 523 5.8] 1,810 -2.9| 29.9| 9,741 -2.6| 32.1
4/10~12 1,834 -2.3| 27.5 b54| -7.2| 546| 4.3] 1,739 -1.7| 31.5 9,179 -8.0| 32.0
5/1~3 1,941 -4.6] 29.1 544 -9.0[ 595 4.8] 2,191 4.3] 32.8/ 9,083 -7.8] 32.0
3% 4 KA 2,327 5.3] 26.0 614| 14.3| 641| 20.9] 3,549| 23.3| 39.7| 11,185 28.9| 34.7
5A 1,989 17.6| 34.1 bb9| 16.9 507| 24.6] 1,758| -5.9| 30.2| 10,888| 25.0| 34.6
6 A 2,132 5.2| 33.8 628| 4.8/ 542| 12.0] 1,850| -7.5| 29.3| 10,548 18.0| 34.2
7R 1,826| -10.6| 29.5 b32|-17.8 457(-12.3| 1,979 4.5| 31.9] 9,856| 12.9| 32.9
8 A 1,754 2.6/ 29.1 525 -8.2| 453| 8.1] 1,742| 10.4| 28.9| 10,019 15.7| 32.6
9H 2,027 0.5 32.4 627\ -5.4( 573| 11.5 1,869 7.7\ 29.9| 10,128| 13.1| 32.4
108 1,967 -9.2| 30.8 614|-11.8| 528| -2.8] 2,011 1.4 31.5| 10,214] 10.0[ 32.4
1A 1,912 4.6| 31.9 631 4.8 528 6.9] 1,755 19.0| 29.3| 10,081 11.0| 32.4
128 1,755 2.6| 34.6 544 0.6/ 513] 15.8] 1,543| 11.6| 30.4| 9,643 10.3| 32.5
4F1H 1,658 .71 24.5 51 11.1| 444 8.0 2,165 7.3| 32.0[ 9,681 9.2 32.4
2R 2,002 -4.4| 31.9 81| -4.9| 604 6.9] 1,897 -5.8| 30.2| 9,801 6.2 32.5
3A 2,443 -6.6] 33.7 660 -0.2| 656]-10.3] 2,243] -2.3] 30.9] 10,070] 2.3] 32.2
4% 4R 2,157 -1.3| 24.4 573 -6.7| 578 -9.8] 3,389 -4.5| 38.3| 11,223] 0.3| 34.1
5A 1,996 0.4] 29.1 597 6.8 571 12.6| 2,231| 26.9| 32.5| 11,346 4.2| 34.3
6 A 2,134 0.1 32.7 640) 1.9/ 590, 8.9] 1,940 4.9| 29.8| 11,054 4.8| 34.2
7R 1,816 -0.5| 31.2 573 7.7 510 11.6| 1,731|-12.5| 29.7| 9,981 1.3] 32.7
8 A 1,784 1.7] 28.9 562| 7.0f 506| 11.7] 1,855 6.5| 30.0{ 9,700 -3.2| 32.0
9H 1,955 -3.6| 31.6 83| -7.0[ 5b3| -3.5| 1,844| -1.3| 29.8| 9,541 -5.8| 31.7
108 1,944 -1.2| 30.5 580| -5.5| 544 3.0] 2,054 2.1| 32.3] 9,624 -5.8] 32.0
1A 1,868 -2.3| 33.5 570 -9.7| 581 10.0 1,735 -1.1| 31.2| 9,281 -7.9| 32.0
128 1,690 -3.7| 36.4 511 -6.1| 512| -0.2| 1,428 -7.5| 30.7| 8,631 -10.5| 31.9
541K 1,476] -11.0| 22.3 453\ -17.8| 445 0.2 2,173 0.4| 32.8| 8,693|-10.2| 31.7
2R 1,962 -2.0| 29.3 b53| -4.8| 599| -0.8] 2,165 14.1| 32.3] 9,019 -8.0| 31.7
38 2,384 -2.4| 35.6 625 -5.3| 741] 13.0] 2,236] -0.3] 33.4] 9,536] -5.3] 32.4
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